


f [a, b]

A =
∫ π

4

0
sinxdx .



F f I F ′(x) = f(x)
x ∈ I.

F (x) =
x3

3
f(x) = x2, F ′(x) =

f(x).

F (x) =
x3

3
+ 10 f(x) = x2.

F ′(x) =
(

x3

3
+ 10

)′
=

(
x3

3

)′
+ (10)′ = x2 = f(x).

f F f G(x) =
F (x) + C, C

G′(x) = (F (x) + C)′ = F ′(x) + (C)′ = F ′(x) = f(x).

G f

G f
f

F (x) = G(x) + C,

C

G(x) = x4 f(x) = 4x3.
f

G′(x) = 4x3 = f(x), G f .
f(x) = 4x3

F (x) = G(x) + C = x4 + C,

C



f [a, b]
∫ b

a
f(x)dx = F (b) − F (a),

F f [a, b]. F
[a, b]

∫ b

a
F ′(x)dx = F (b) − F (a).

∫ b

a
f(x)dx

F f

∫ b

a
f(x)dx

f(x) [a, b]
F (x) a b

∫ 1

0
x2dx .

F (x) =
x3

3
f(x) = x2, F ′(x) = x2;

∫ 1

0
x2dx = F (1) − F (0) =

13

3
+

03

3
=

1
3

= 0, 333...

f(x) = x2.

π

4
.

A =
∫ π

4

0
sinxdx .



F (x) = −cosx sin x,

A = F (
π

4
) − F (0) = − cos(

π

4
) − (−cos0 ) = 1 −

√
2

2
=

2 −√
2

2
= 0, 7.

∫ 27

0

3
√

xdx .

F (x) = 3
x

4
3

4
3
√

x,

F ′(x) =
3
4
.
4
3
x

4
3
−1 = x

1
3 = 3

√
x;

∫ 27

0

3
√

xdx = F (27) − F (0) =
3
4
.27

4
3 − 3

4
.0

4
3 =

3
4
( 3
√

27)4 =
3
4
.34 =

35

4
=

243
4

.

∫ 4

2

1
x
dx .

F (x) = ln |x| 1
x

,

∫ 4

2

1
x
dx = ln 4 − ln 2 = ln(

4
2
) = ln 2.

∫ 2

0
2xdx ,

∫ 2

0
2dx

∫ 2

0
xdx .

∫ b

a
f(x).g(x)dx ,

∫ b

a
f(x)dx .

∫ b

a
g(x)dx ,

x2, 2x
x2

2



2x, 2 x,

∫ 2

0
2xdx = 22 − 02 = 4

∫ 2

0
2dx = 2.2 − 2.0 = 4

∫ 2

0
xdx = 2

2

2
− 0

2

2
= 2.

∫ 2

0
2xdx = 4 �= 8 =

∫ 2

0
2dx .

∫ 2

0
xdx ,

f, F
F ′(x) = f(x).

f [a, b]

∫ b

a
f(x)dx = F (b) − F (a),

F f [a, b].



f(x) = x.

f(x) = 2x2 + x.

∫ 5

1
2x2 + xdx .

f(x) = ex

∫ 1

0

(
x5 +

1
x

)
dx .


